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R1: Age

35: Brachytherapy[1]

Figure S1. Scaled Schoenfeld residuals plotted against time.
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32: FIGO[II+]

36: Offspring
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R3: FIGOJ[IB]

37: Time from last period [years]
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34: BMI value

38: FSH after

Scaled Schoenfeld vs Time

1.0
0.5-1e
& . ¢
_ o0 ()
0.0 % e o e® o
[ ] [ ]
[ ]
-0.5 °
-1.0 T T T
0 2 4 6
Time [years]
Scaled Schoenfeld vs Time
0.10
[ ) [ ] ®
0.054 °e
[ ]
° [ ]
®
0.00- ° .
[ ) ° 0.
-0.054 )
e o
o °
-0.10 T T T
0 2 4 6
Time [years]




Deviance vs HR
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Figure S2. Deviance residuals plotted against hazard ratio. The large dense cluster of points in the lower left region of the graph is
due to a high proportion of censored observations in the data set. By definition, censored observations must have negative deviance
residuals.



Deviance vs Covariate
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Figure S3. Deviance residuals plotted against hazard ratio. The large dense cluster of points in the lower left region of the graph is
due to a high proportion of censored observations in the data set. By definition, censored observations must have negative deviance
residuals.
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